








Val
Typewritten Text
1. Prepare 6 bolt assemblies by first 
    inserting a lock washer (#F) onto 
    the bolt (#C) then a flat washer 
    (#E) onto that same bolt (#C).

Val
Rectangle

Val
Typewritten Text
2. Align the legs (#2) to the
    holes along the back of
    the headboard (#1), then
    insert 3 bolt assemblies
    into each leg and secure.

Val
Rectangle

Val
Line

Val
Line

Val
Typewritten Text
Hook each end of the side rails (#4) onto the bolts along the headboard (#1) 
and footboard (#3), then tighten the bolts using the Allen wrench (#H).

Val
Rectangle

Val
Line



Val
Typewritten Text
Place the ends of the drawer slat (#5) onto the slots along the rails, 
then insert 2 screws (#B) into each end. Secure using a screwdriver.

Val
Rectangle

Val
Line

Val
Typewritten Text

Val
Typewritten Text
Adjust according to 
the ground level.

Val
Typewritten Text

Val
Rectangle

Val
Line

Val
Typewritten Text
Align the drawer slat support (#6) to the hole along the bottom of the drawer slat 
(#5), then insert the threaded end of the support stopper (#13) into that same hole 
from above. Turn right to tighten and make sure both supports are firmly secured.

Val
Typewritten Text

Val
Typewritten Text

Val
Typewritten Text

Val
Typewritten Text

Val
Rectangle



Val
Typewritten Text
Align the end of the runners to the slat (#5), then insert 
a screw (#A) into each end. Secure using a screwdriver.

Val
Rectangle

Val
Line

Val
Typewritten Text
Place the slats (#7) onto the rails, then align the 
center slat (#10) to the holes along the bottom 
of those slats (#7) and the slat supports (#9). 
Insert a bolt (#D) from above and secure. 

Val
Rectangle

Val
Line



Val
Typewritten Text
Place the bed slats (#8) onto the rails, then insert a 
screw (#B) into each end. Secure using a screwdriver.

Val
Rectangle

Val
Line

Val
Typewritten Text
Place the slat cover (#12), 
then insert the screws (#A) 
and secure using a screwdriver.

Val
Rectangle

Val
Line











Val
Typewritten Text
1. Prepare 6 bolt assemblies by first 
    inserting a lock washer (#G) onto 
    the bolt (#C) then a flat washer 
    (#F) onto that same bolt (#C).

Val
Rectangle

Val
Typewritten Text
2. Align the legs (#2) to the
    holes along the back of
    the headboard (#1), then
    insert 3 bolt assemblies
    into each leg and secure.

Val
Rectangle

Val
Line

Val
Line

Val
Typewritten Text
Hook each end of the side rails (#4) onto the bolts along the headboard (#1) 
and footboard (#3), then tighten the bolts using the Allen wrench (#I).

Val
Rectangle

Val
Line



Val
Typewritten Text
Place the ends of the drawer slat (#5) onto the slots along the rails, 
then insert 2 screws (#B) into each end. Secure using a screwdriver.

Val
Rectangle

Val
Line

Val
Typewritten Text
Align the drawer slat support (#6) to the hole along the bottom of the drawer slat 
(#5), then insert the threaded end of the support stopper (#14) into that same hole 
from above. Turn right to tighten and make sure both supports are firmly secured.

Val
Typewritten Text
Adjust according to 
the ground level.

Val
Rectangle

Val
Rectangle

Val
Line



Val
Typewritten Text
Align the end of the runners to the slat (#5), then insert 
a screw (#A) into each end. Secure using a screwdriver.

Val
Rectangle

Val
Line

Val
Typewritten Text
Place the slats (#7) onto the rails, then align the 
center slat (#10) to the holes along the bottom 
of those slats (#7) and the slat supports (#9). 
Insert a bolt (#E) from above and secure. 

Val
Rectangle

Val
Line

Val
Typewritten Text
Insert the drawers.

Val
Rectangle



Val
Typewritten Text
Place the bed slats (#8) onto the rails, then insert a 
screw (#B) into each end. Secure using a screwdriver.

Val
Rectangle

Val
Line

Val
Typewritten Text
Place the slat cover (#12), 
then insert the screws (#A) 
and secure using a screwdriver.

Val
Rectangle

Val
Line



Val
Typewritten Text
2. Align the side rail caps (#13)
    to the holes, then insert a
    bolt assembly into each hole.
    Secure using the Allen wrench.

Val
Rectangle

Val
Line

Val
Typewritten Text
1. Prepare 10 bolt assemblies by first 
    inserting a lock washer (#G) onto 
    the bolt (#D) then a flat washer 
    (#F) onto that same bolt (#D).

Val
Rectangle

Val
Line











Val
Typewritten Text
1. Prepare 6 bolt assemblies by first 
    inserting a lock washer (#F) onto 
    the bolt (#C) then a flat washer 
    (#E) onto that same bolt (#C).

Val
Typewritten Text
2. Align the legs (#2) to the
    holes along the back of
    the headboard (#1), then
    insert 3 bolt assemblies
    into each leg and secure.

Val
Rectangle

Val
Rectangle

Val
Line

Val
Line

Val
Typewritten Text
Hook each end of the side rails (#4) onto the bolts along the headboard (#1) 
and footboard (#3), then tighten the bolts using the Allen wrench (#H).

Val
Rectangle

Val
Line



Val
Typewritten Text
Place the ends of the drawer slat (#5) onto the slots along the rails, 
then insert 2 screws (#B) into each end. Secure using a screwdriver.

Val
Rectangle

Val
Line

Val
Typewritten Text
Align the drawer slat support (#6) to the hole along the bottom of the drawer slat 
(#5), then insert the threaded end of the support stopper (#13) into that same hole 
from above. Turn right to tighten and make sure both supports are firmly secured.

Val
Rectangle

Val
Typewritten Text
Adjust according to 
the ground level.

Val
Rectangle

Val
Line



Val
Typewritten Text
Align the end of the runners to the slat (#5), then insert 
a screw (#A) into each end. Secure using a screwdriver.

Val
Rectangle

Val
Line

Val
Typewritten Text
Place the slats (#7) onto the rails, then align the 
center slat (#10) to the holes along the bottom 
of those slats (#7) and the slat supports (#9). 
Insert a bolt (#D) from above and secure. 

Val
Rectangle

Val
Line



Val
Typewritten Text
Place the bed slats (#8) onto the rails, then insert a 
screw (#B) into each end. Secure using a screwdriver.

Val
Rectangle

Val
Line

Val
Typewritten Text
Place the slat cover (#12), 
then insert the screws (#A) 
and secure using a screwdriver.

Val
Rectangle

Val
Line




